.

2. K B A b e s e s 2

Sometimes we say divide instead of share.
Divide 6 balloons among 3 children.

We see:

We think: 6 balloons divided among
3 children is 2 balloons each.

We write: 6 ~ 3 = 2

Draw a picture to show the dividing.

Copy and complete each sentence.
are there for each

1. Divide 9 cards among 3 children. T 7
9+3=4

2. Divide 8 balloons among 2 children.
8§ +2=45

3. Divide 12 fish among 3 bowls.
12 +-3=%8

R O S A P02 e B m

A

Estimate: About how many acorns
squirrel?




Equal Groups

There are 20 muffins.
There are 5 muffins on each plate.
How many plates are there?

We think: 20 divided into equal
- groups of 5 is 4 groups.

We write: 20 ~ 5 = 4

There are 4 plates.

12+ 4 =4 i 6+-2=1

6 divided into groups of 3 is & groups. Z 10 divided into groups of 2 is # groups.
6+3=41 i 10 +2 =4
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'ﬁhere are 20 fish,
I We put 4 fish in each bowl.
| ‘1 ‘How many bowls do we need?

V

E+2=E

E divided into grous of 2 is & groups.

We think: 20 divided into equal
groups of 4 is 5 groups.

g

We write: 20 - 4 = 5

We need 5 bowls.

~ divided into groups of 3 is = groups.
F+3=¢

4. o o
W b ™

- divided into groups of 3 is & groups.

E: divided into groups of dist groups.
sl =

v, ~. Ll
; ;
YTy R bt e
A 1
: :
190w
ket

*divided into groups of 5 is & groups
| S =B =7
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Interpreting Division Pictures
How many blocks of stamps are shown?

We see:

i [CANADA

oS Sess SOGusem

seoobesossoacosy |

*
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S40 cossssonsas

CANADA] : [CANADA

¥

seccocowavscaowss

‘[#mooeswsvronsopsn

i i i e et e

We think: There are 12 stamps.
There are 4 stamps in each block.
12 divided into groups of 4 is 3 groups.

We write: 12 -~ 4 = 3

There are 3 blocks of stamps.

Fill in the missing numbers to answer each question.

1. How many teams are shown?

7 children A bottles

= in each carton

== . = _ = H - EE
2+3=5 q+-8=
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Fill in the missing numbers to answer each question.

1. How many groups of balloons areé
shown?

iafila

2. How many sets of paints are there?

.:.;f.:'.

—m&'

M balloons M tubes
M in each group @ in each set
I - M = . A = 4= '.
4. How many pairs of shoes are in the

3. How many bunches of bananas are
there?

boxes?

M shoes

M bananas
@ in each bunch Hin each pair

5. How many boxes of pears are there?

A pears
4lin each box

A-d=1

6. How many groups of brushes are
shown?

H brushes
Ain each group
d-A=49
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